Solubm

MATH 1100-001
EXAM I

Instructions:. Put your name on the exam. Show your work for full credit. Calculators and other electronic
devices (including cell phones) are not allowed. You are allowed one side of an 8.5 by 11 inch sheet of notes

1. (5 points each) For f(z) = £3&=2 evaluate the following limits:
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2. (20 points) Using the definition of the derivative, find f’(z) where f(z) = z — 222
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3. (20 points) Let f(z) = (2+z)(z® — 1). Find the equation of the tangent line to the graph when z = —1
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4. (5 points each) Find the derivatives of the following functions (don’t simplify your answers):
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5. (5 points each) Suppose that the revenue for selling z calculators is R(z) = 100z + 0.05z2.
a. Find the rate of change of the revenue with respect to the number of calculators sold.
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b. What is the rate of change of the revenue when 100 calculators are sold?
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6. (5 points each) Evaluate the following:
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